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INPUT INSTRUCTIONS
title: OO0
data: file is data03.txt; (*data TL™H A%, HH
variable: (*data 3 2] A2 E2] ¥ AF)

names are auto feed tsel tse2 jcl jc2 posl pos2 obsel obse2 ocl oc2;
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usevariables are auto feed tsel tse2 jcl jc2 posl pos2 obsel obse2 ocl oc2;
analysis: estimator is ml; GHAPSE F3)

iteration = 1000; (*3 T 10003] W 7))

bootstrap = 2000; FEEXAEHF 20003 AA)

model:

tse by el tse2; (+F 7 Sl o7 FAEHA AF4H 29 TA)
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i byl je2; (+5 ) SAMACR A7E9)

pos by post pos2; (5 7} SAME e A28 24 W 29 FA)
obse by obsel obse2; (*F 7l WA Z 27|k 2G4 891 FA)
oc by ocl o (F 7} 2R 0R 2B 29l P4,

jc on je; FFEAC] AREYS dSste AR I

ic on pos; (1218 2AA\ o] ARBYE AZaE YA

oc on je; (*AF540] 2H=HE d55h= AR A

oc on pos, (A1ZHE 27A19l0] 27BYL ol 2ae APEh

obse on posal); (*A 4 ZHAYD -> 27| A4 a1l R)

tse on jer(@2); (A FE5A 9%l > HHEH A A 24 2)
tse on pos(a3); (*AIZHE ZAAA > APEHA A4l 374 )
g 8%l > A7 A4 47 )
1=

obse on jct(ad); A TE S
oc on obse(bl); (*Z2Z71HF AFGA -> ZAE]: b1 R)
jc on tse(b2); *UAEHA AZA -> HFES]: 2B R)

new(albl); albl = al*bl; (*albl &L a17} b12] F)
new(a2b2); a2b2 = a2*b2; (*a2b2 EEH Q1S 29} 22| F)
new(a3bd); a3b4 = a3%b4; (*a3bd EWHQAL a3Z} b49] F)
new(a4b3); a4b3 = ad*b3; (*adb3 EO|WQ1-S a4} b32] #)

new(albla3b4); albla3b4 = albl-a3b4; (*albla3bd+ albl¥} a3b42] =}ol)
new(a2b2a4b3); a2b2adb3 = a2b2-adb3; (*a2b2a4b3 & a2b2¥} a4b32] A}ol)

output: sampstat standardized cinterval(bcbootstrap), (7] ZFAX], B3} Al FEAEHY AT 3h



